79.2(7) wwizem

B @2 A 65° (4) 53°8% 127° 40° (6] 50°

B % DE ¥4 /CDM, /1=20°, il L FDE=20°, R} GE // DM, Pl L/ FED=
Z1=20°,fffLk L/GFD =40°, E% AB // CD,fiflk L 2=_/GFD =40°,

(8 E% AD | BC, FE | BC,Jflh /EFB=_/ADB =90°, \Tfi EF // AD,Fll/2=
Z3. XA DG /) BA, ikl /3=/1,Hlk L1=2,

@& (O EX LACB=90°, AC=BC,fflA L/ABC=45°, X.CH | AB,| L/ ACH =45°,



% LABC = L/ACH., HH AE | CD, ffbh LCAE + LACE =90°, X /BCD +

/ACE =90°, W] /. BCD =/CAE, & ACBD ¥ NACG, il BD =CG., (2) B}

AE | CD, BF | CD,ff/BFD =/CEG=90° B /DBF+ /BDF=90°, XCH |

AB, W /GCE+ /CDH=90°, H% /BDF=/CDH,fih /DBF=/GCE, XBD =
CG,18 ADBF ¥ AGCE, fifLA DF =GE,

@ (1 A+4D=,/C+ /B (2)6 (3) /DAP+ /D=/P+ /DCP @,

/PCB+ /B=/PAB+ /P ©,H% /DAB # /BCD W F¢k AP f1CP ¥ TF
&= P,fiA /DAP=/PAB, /DCP=/PCB, i®O+®%% £LDAP+/D+/PCB+
/B=/P+/DCP+/PAB+/P,fp2/P=/D+/B. X /D=40°, /B=36",
N 2/ P=40°+36°=76,ffh L/ P=38 4 2/P=/D+/B.



